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Part I (Compulsory)

1. “The Historiogféphy of Indian Nationalism has long been dominated by
aristocracy”. Whose statement was it ?

(A) Ram Chandra Guha (B) Sumit Sarkar
(C) Ranjeet Guha (D) Bipin Chandra |
2. Who gave. the famous slogan—“Manav Ke Liye Ek Dharm, Ek Jati Wa Ek
Ishwar” ?7 b :
(A) Sri Narayan Guru (B) Mahatma Jyotiba Phule
(C) Raja Ram Mohan Roy (D) Swami Dayanand

3. Given below are two statements :

Statement I : Sir Valentine Chirol, called Bal Gangadhar Tilak as “Father

of Indian Unrest”.
Statement II : Bal Gangadhar Tilak opposed the “Age of Consent Act”.

In the light of the above statements, choose the most appropriate answer from

the options given below :

(A) Both Statement I and Statement II are correct

(B) Both Statement T and Statement IT are incorrect

(C) Statement I is correct and Statement II is incorrect

(D) Statement I is incorrect and Statement II is correct
4. Arrange these events in chronological order :

(1) Murder of Mr. Rand

(2) Komagata Maru incident

(3) Murder of Col. William Curzon Wyllie

(4) Formation of ‘Anusilan Samiti’

Choose the correct answer from the options given below :

(A) (1), (3), 4), (2) B) 1), @, 3), (2)

(C) (@), (3), (1), (2) D @), (1), 3), ©2)
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5. Consider the following statements :
(1) Hindustan Republican Association was formed in 1924 A.D.
(2) Digambar Vishwas and Vishnu Vishwas led the Indigo Movement (1859)
(3) ‘Tinkathia System’ was associated with Kheda Satyagrapha
(4) On 12 April 1922, the Non-cooperation Movement came to an end

Choose the correct answer from the options given below :

(A) (1) and (2) only (B) (2) and (3) only
(C) (1) and (4) only ) (D) (2) and (4) only
6. Match List-I with List-II :
List-I ' List-1I
(Party) (Established year)
(@) Indian Bolshevik Party @) 1940
(b) Revolutionary Communist Party  (ii) * 1942
(¢) Bolshevik Leninist Party (ifi) 1939
(@) Radical Democratic Party liv) 1941

Choose the correct answer from the options given below .
@ & © (@ |
(A) Gi) G Gv)  G)
B) @ GG O Gw)
©€) ) G @& G
D) @)y G 6@ @)
7. Under Article 124(4) how an impeachment. motion against a judge of Supreme
Court is passed ?
(A) A simple majority in lower house of Parliament

(B) A majority of each house of Parliament and a majority of not less than
two-third of that house present and voting

(C) A two-third ma_]onty of upper house of Parliament
- (D) A majority of both houses of Parliament

TBC : LWO-2022 | 3 fon P.T.O.
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8. Rajya Sabha enjoys which special powers under Article 312 of the Constitution ?

(A) To extend speciﬁl rights to certain people
(B) To create new All India Service
(C) To appoint members of Human Rights Commission
(D). To put restrictions of State Governments
9. Given below are two statements :

Statement I : Right to Property has been deleted from Fundamental Right

through 42nd Constitutional amendment.

Statement II : Article 33 empowers the Parliament not to grant some

fundamental rights to the persons serving in armed forces.

In the light of the above statements, choose the most appropriate answer from

the options given below :

(A) Both Statement I and Statement II are correct

(B) Both Statement I and Statement II are incorrect

(C) Statement I is correct and Statement II is incorrect

(D) Statement I is incorrect and Statement II is correct
10. Put these political events in chronological order :

(1) Liberation of Goa

(2) Dalai Lama’s escape to India

(3) Puducherry’s joining as U.T. in India

(4) Division of Bombay into Maharashtra and Gujarat

Choose the correct answer from the options given below :

(A) (1), (3), (2), (4) (B) (@), 4), (1), 3)

©) ), (3), 4), 2 | D) 4), (2), 3), (1)

TBC : LWO-2022 4
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11. Consider the following statements :

(1) Nehru said that Article 32 is the “very soul of the Constitution”
(2) Article 40 talks about organisation of Village Panchayats

(3) Kaka Saheb Kalelkar was appointed chairman of first commission for Other

_Backward Classes

(4) Like ordinary bill, money bill can also be introduced in Parliament without

prior permission of President

Choose the correct answer from the options g-iveri below :

(A) (1) and (2) only (B) (2) and (3) only
(C) (3) and (4) only (D) (4) and (1) only
12. Match List-I with List-II :
List-I List-II
(Constitutional Remedies Writs) (Meaning of Writs)
(@) Habeas corpus (1) By which authority power
is used

(b) Mandamus

(¢) * Prohibition

(d) Quo warranto

(@)

(¢it)

(tv)

Order the subordinate to
stop doing which law
prohibits

Arrested person be
produced before court

A command to inferior
court to perform public
duty

Choose the correct answer from the options given below :

@ ® @© @
A) @ G Gv) G
B) G ) @G G
©) G) G G Gv)
D @ @ G) @)
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13. Which of the following states firstly introduced Employment Guarantee

Scheme ?
(A) Madhya Pradesh (B) Maharashtra
(C) Tamil Nadu (b) Karnataka
14. In which year, the Pradhan Mantri Jan Arogyai Yojana was launched in India ?
(A) 2017 (B) 2018
(C) 2019 (D) 2020

15.- Given below are two statements :
Statement I : Green Bonds are issued by financial, non-financial or public
entities. '
Statement II : India has the second largest emerging green bond market.

In the light of the above statements, choose the most appropriate answer from

the options given below :

(A) Both Statement I and Statement II are correct

(B) Both Statement I and Statement II are incorrect

(C) Statement I is correct and Statement II is incorrect

(D) Statement I is incorrect and Statement II is correct
16. Arrange the following schemes in chronological order from the given codes :

(1) Employment Assurance Scheme

(2) Rural Landless Employment Guarantee Scheme

(3) Swarna Jayanti Gram Swarozgar Yojana

(4) National Rural Employment Guarantee Scheme

Choose the correct answer from the options given below :

A) @), 3), ), (1) , B) 1), @), 3), 4D

© 3), (1), @), (2) | D) @), M, 3d), D

TBC : LWO-2022 6
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17. Consider the following statements :
(1) Devaluation means when the Government reduce the value of a currency

(2) Devaluation means when the value of the currency falls under the floating

rate system
. (3) Imports became’ more expensive after devaluation
(4) Exports became more expensive after devaluation

Choose the correct answer from the options given below :

(A) (1) and (4) only (B) (2) and (4) only
(C) (1) and (3) only - (D) (2) and (3) only
18. Match List-I with List-II : '
List-1 ~ List-II
(Countries) : (Membership)
(@) India, Pakistan, Sri Lanka, ) G-15
South Africa, Brazil
(b) India, China, Brazil, Russia, @) G-8
Japan |
(¢) India, Sri Lanka, Malayéia, (ir) G-24
Brazil, Chile
(d) Italy, Russia, Japan, Canada, (iv) G-20
France

Choose the correct answer from the options given below :
@ ® @© (@@

(A) Gv) G @ @

(B) Gii) G @ @)

© @) G@ 6 @)

D) @ @O G @

TBC : LWO-2022 | M & ' P.T.0.




19.
20.

21,

22.

23.

Karewa soil i1s composed of :

(A) Sand deposits (B) Iron-oxide deposits
(C) Gravel deposits - (D) Lacustrine deposits
Zawar mines in Rajasthan are known for :

(A) Lead smelting (B) Copper smelting
(C) Iron smelting (D) Zinc smelting

Given below are two statements :

Statement I : Tropical thorn forests occur in the areas which receive rainfall
more than 100 cm. _ '
Statement II : Project Elephant was launched in the year 1973.
In the light of the above statements, choose the most appropriate answer from
the options given below :

(A) Both Statement I and Statement II are correct

(B) Both Statement I and Statement II are incorrect

{(C) Statement I is correct and Statement II is incorrect

(D) Statement I 1s incorrect and Statement II is correct

Arrange the following in chronological order :

(1) Crocodile Project

(2) Project Elephant

(3) Project Tiger

(4) Wildlife Act

Choose the correct answer from the options given below :

(A) (4), (3), (1), (2) (B) (3), (4), (1), (2)

©) (1), (2), @), 3) M (4), @), 1), 3)

Consider the following statements

(1) Forest and tribals are very closely related

(2) Project Elephant was launched in 1976

(3) Mangroves consist of a number of salt-tolerant species

(4) Chinar and walnut belong to moist deciduous forests

Choose the correct answer from the o.ptions given below :

(A) (2) and (4) only (B) (1) and (2) only

(C) (3) and (4) only (D) (1) and (3) only

TBC : LWO-2022 8




24.

25.

26.

21.

28.

Match List-I with List-II :
© List-I ' List-II
(Place) - (Industry)
I(a) Jabalpur - _ : (i) Aluminium
(b) Mettur - (i) Fertilizer
(¢) Salem (fii) Automobile
(d) Panipat (fv) Steel

Choose the correct answer from the options given below :
@ b)) © @

(A) Gu) @ @ @)

B) @) @ G G

(C©) @  Gvy @) G

D @ G G @

According to the cultural history of India ‘Panchayatan’ is :

(A) An assembly of elders of village

(B) A religious sect

(C) Temple construction style

(D) Functionary of an administration

Sattriya is a classical dance form of which State ?

(A) Manipur (B) Uttar Pradesh

(C) Assam (D) Andhra Pradesh

Which one of the following is not a feature of North Indian temple architecture ?
(A) Sikhara i (B) Garbha Griha

(C) Gopura _ _\ (D) Pradakshina

Kalchakra ceremony is associated with which of the following ceremonies ?
(A) Hinduism (B) Buddhism |
(C) Jainism | (D) Islam

TBC : LWO-2022 s B P.T.O.




29.

30.

31.

32.

33.

(

Which of the following places is famous for Chikankari work, which is a traditional
art of ei:nbroidery ?

(A) Lucknow ' - (B) Hyderabad
(C) Jaipur | (D) Mysore
The Kala Ghoda Arts Festival is associated with which one of the following
cities ?
- (A) Kochi (B) Pune
(C) Mumbai : (D) Mysore-

In which year Mughal Eniperor Jahangir captured the Kangra Fort ?

(A) 1615 .' (B) 1618

(C) 1620 (D) 1622

Which of the Sirmouri Raja was the contemporary of Mughal Emperor Shah
Jahan ? |
(A) Raja Dharm Prakash (B) Raja Budhi Prakash

(C) Raja Mandhata Prakash (D) Raja Subhag Prakash

Considér the following statements :

(1) In 1857, the Deputjr Commissioner of Shimla was Lord William Hay.
(2) At Kassauli, Subedar Bhim Singh revolted in 1857 against the British

(3) On Oct. 1945, the great revolutionary of Himachal Pahari Gandhi Baba
Kanshi Ram passed away

(4) At the time of Jhugga Satyagraha, the Rajﬁ of Bilaspur was Ajmer Chand
Choﬁse the correct answer from -the options given below :

(A) (1) and (2) only . (B) (2) and (3) only

(&) (3) and (4) only (D) (1) and (4) only

TBC : LWO-2022 | 10




34. Consider the following statements :
(1) ‘Dharm Chand Natak’ was written by Manik Chand

(2) The chief of Koti remained loyal to the British during the great revolt
of 1857 A.D.

(3) Theog state was founded by Ajay Chand

(4) After the‘ expulsion of the Gurkhas in 1815 A.D., the state of Sirmur came
under the Sikhs control

Choose the correct answer from the options given below :

(A) (1) and (3) only (B) (2) and (4) only
(C) (1) and (4) only (D) (1) and (2) only
35. Match List-I with List-II :
| List.I ‘ List-1I
- (Event) - (Date/Year)

(@) Kangra fort was seized by (@) 1622
Mu_ghal Army

(b) Thevnot, a European Traveller - (w) 1620
visited Kangra | |

(¢) Capital of Bilaspur State was - (i) 1666
transferred from Kotkehlor to
Bilaspur |

(d) Jahangir visited Kangra accompanied (@v) 1654
'~ by Begam Nur Jahan |

Choose the correct answer from the options given below :
(@ B @ (@

(A) @ (@) @) @)

B) @ (@ GE) §)

© @ & @ G

M @ @ G G

TBC : LWO-2022 11 P.T.O.




36. Match List-I with List-II :

List-I oo List-II
(Revolt) _ (Against the Mughal Ruler)
(@) Revolt of Bidhi Chand of Kangra @) Shah Jahan
(b) Revolt of Jagat Singh @)  Akbar
(@ Revolt of Surajmal of Nurpur (iti) Aurangzeb
~ (d) Defiance of Mughal authority by (iv) Jahangir

Raja Chatar Singh of Chamba
Choose the correct answer from the options given below :
@ ® © @ |
(A) @) @ G @)
B) G) G O G
(©) @) G @ (v
D) Gvy @& G @)
37. Name the largest glacier of Himachal Pradesh from the following glaciers ?
(A) Batal glacier - | (B) Bara Shigri glacier
(C) Gora glacier (D) Miyar glacier
38. Consider the following statements :
(1) Rahala fall is located in Shimla district
(2) Tattapani hot Wate'r. springs are located on left bank of Sutlej river
(3) Roerick art gallary is at Naggar '
' (4) Jeori is famous for hot water springs
Choose the correct answer from the options given below :
(A) (1) and (2) only (B) (3) and (4) only
(C) (2) and (3) only D) (1) and (4) only

TBC : LW0O-2022 _ 12
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39. Consider the following-statements :
(1) Bara Bhang‘al is located in Sutlej valley
(2) Khoksar is a famous village in Lahaul valley
(3) Tattapani is famous place in Beas valley
(4) Manikaran hot water springs are located in Parvati valley
Choose the correct answer from the options given below :
(A) (1) and (2) only (B) (2) and (4) only
(C) (3) and (4) only ' (D) (1) and (3) only
40. Consider the following statements :
(1) Sultanpur National Park is in Kullu District of Himachal Pradesh
(2) Kalesar National Park is in Mandi District of Himachal Pradesh
(3) No Tiger Reserve is located in Himachal Pradesh
(4) No Elephant Reserve is located in Himachal Pradesh

Choose the correct answer from the options given below :

(A) (1) and (3) only (B) (3) and (4) only

(Cy (2) and (4) only (D) (1) and (2) only
41. Match List-I with List-II :
| List-I List-II

(Lake) (District)

(@) Mahakali , @ Kihnaur

(b) Kalasar (i) Chamba

(c) Surajtal (iii)) Mandi

(d) Nako (iv) Lahaul and Spiti

Choose the correct answer from the-options given below :
(A) (a) - (&), b) - (iv), (c) - (i), (d) - (@)
B) (@) - (@), ®) - Gv), © - 6), @) - ()
(C) (a) - (i), (b) - (iiD), (¢) - (), (@) - @)
D) (a) - @), B) - @), (e) - (D), (@) - Gv)

TBC : LWO-2022 | 13 ~ PTO.




42.

43.

44,

45.

Match List-I with List-II :

List-I List-1I
~ (Wildlife Sanctuary of H.P.) (Year of Establishment)
(@) Bandli G 1976
(b) Chail @) 1962
(¢) Churdhar : (iz) 1985
(@) Dhauladhar () 1994

Choose the correct answer from the options given below :

(A) (a) - Gv), (B) - @), () - (D), (@) - (i)

(B) (@) - (), b) - Gu), () - (@), d) - (@)

(©) (@) - @), ) - @), () - @), (d) - (iv)

(D) (@) - @), (B) - (iv), () - (), (d) - (iii)

As per the Budget Estimates for the year 2022-23, Fiscal deficit is expected
to be what percent of the State’s Gross Domestic Product ?

(A) 2.43% : (B) 3.89%

(C) 4.98% (D) 5.13%

As per HP Budget 2022-23, how many villages will be developed as Natural
Farming villages as per Government of India standards ?

(A) 28 villages (B) 50 villages

(C) 75 villages (D) 100 villages

Which of the following statements is/are correct according to HP Budget

2022-23 ?

(1) By the end of 2022-23, 50,000 acres land will be brought under Natural
Farming.

(2) 50,000 farmers will be certified as Natural Farmers.

Select the correct answer using the codes given below :.

(A) (1) only (B) (2).only

(C) Both (1) and (2) (D) Neither (1) nor (2)

TBC : LW0O-2022 14




47.

48.

49.

50.

51.

As per HP Budget 2022-23, which Mandi will be developed as a model mandi
in Himachal Pradesh ?

(A) Parala o (B) Parwanoo

(C) Duttnagar (D) Sarahén

As per HP Budget 2022-23, cultivafion of which crops in Himachal will be .

introduced in collaboration with the Institute of Himalayan Bioresource
Technology (IHBT), Palampur ? '

(A) Dal-Chini and Dragon fruit (B) Dragon fruit and Monk fruit
(C) Dal-Chini and Monk fruit (D) . Kesar and Monk fruit

How many Farmer Producer Organizations (FPOs) will be established in
2022-23 in Himachal according to HP Budget 2022-23 ?

(A) 7 - (B) 12

(C) 15 M) 20

How much amount has been provided for Agriculture Sector during 2022-23
in the HP Budget 2022-23 ?

(A) Rs. 469 crore (B) Rs. 583 crore
(C) Rs. 1,662 crore (D) Rs. 713 crore

A new scheme ‘Shreshth Shiksha Gunvatta Protsahan Yojana’ has been

announced in HP Budget 2022-23 for which purpose ?

(A) To encourage competition among Government Schools Students

(Bj To encourage competition among Govefnment Schools

(C) To encourage competition among Government Schools Teachers

(D) To encourage competition among Government Schools and Private Schools

What is the natﬁe of the ‘Policy Advocacy Arm’ for the power and related sectors,
formed under the Power Ministry ?

(A) Power Foundation (B) Energy Foundation
(C) Green Power Foundation (D) Central Power Society

TBC : LWO-2022 it 4B : P.T.O.




52.

53.

54.

55.

(

Consider the following statements regarding Internet of Things (IoT), recently

seen in the news :

(1) Itis an inter-networking of physical devices, vehicles and buildings embedded
with electronics, software, sensors and network connectivity.

(2) It has the ability to transfer data over a network without reqmrmg human-
to-human or human-to-computer 1nteract1on |

(3) It works only on Virtual Private Networks (VPNs).

Which of the above statements is/are correct ?

(A) 1 only (B) 1,2

©) 1,3 D) 1,2, 3

Consider the following statements about the “ACROSS scheme”

(1) It pertains to the atmbSpheric science programs of Ministry of Earth Sciences
(MoES).

(2) It addresses different aspects of weather and climate services, which includes
warnings for cyclones, storm surges and heat waves.

(3) It will be implemented by the institute nanmed ‘Indian Institute of Science’.

Which of the statements given above is/are correct ? '

(A) 1 only ' - (B) 2 only

(C) 1 and 2 (D) 1, 2 and 3

‘National Gender Index’ and ‘State Energy and Climate Index’ are the upcoming

initiatives of which institution ?

(A) UNDP (B) NITI Aayog

(C) UNICEF (D) Economist Intelligence Unit

What is the objective of ‘Kavach’ technology announced for Indian
Railways ?

(A) Waste Management (B) Anti-Collision

(C) Burglar Guard (D) Covid Protocol in trains

TBC : LWO-2022 16




56.

57.

58.

Consider the following statements with reference to Pradhan Mantri Fasal Bima
Yojana Scheme :

(1) Tt provides a comprehensive insurance cover against the failure of all food

and oilseed crops.

(2) It prescribes a premium of 2% to be paid by farmers for all Kharif crops
and 1.5% for all rabi crops. : ¢

Which of the statements given above is/are correct ?

(A) (1) only (B) (2) only

(C) Both (1) and ) (D) Neither (1) nor (2)

With reference to World Sustainable Development Summit (WSDS), consider

‘the following statements :

(1) It is the annual flagship event of the UN Environment Programme (UNEP).

(2) It has been conceptualized as a single platform to accelerate action towards
sustainable development and climate change.

Which of the statements given above is/are correct ?
(A) (1) only (B) (2) only
(C) Both (1) and (2) (D) Neither (1) nor (2)

Which of the following statement(s) is/are correct related to the Winter Olympics
2022 ? :

(1) US, UK, Canada and Australia had announced a diplomatic boycott of the

games due to environmental laws violations in China.

(2) Beijing became the first city to have hosted both the Winter and Summer
Olympics.

(3) Norway made a new record for the largest number of gold medals won

"at a single Winter Olympics.

Options :
(A) (1) and (2) only (B) (2) only
(C) (2) and (3) only (D) All

TBC : LWO-2022 | 17 ’ P.TO.
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59. Which of the following statement(s) is/are correct about the new capltal of
Indonesia ?
(1) The new capital of Indonesia is located on the island of Borneo.
(2) The name of new capital is Nusantara, which means ‘island’.
(3) The name of new capital is Nusantara, which means ‘archipelago’.

Options : _
~ (A) (1) only (B) (1) and (2) only
(C) (1) and (3) only (D) (3) only

60. Consider the following statements related to UNCTAD' :
(1) UNCTAD released ‘Digital Economy Report 2021’.
(2) UNCTAD stands for ‘United Nations Conference on Trade and Development’,
(3) UNCTAD advocates for free flow of digital data across the borders.
Which of the above statement(s) is/are correct ?
- (A) (1) only ' (B) (2) and (3) only
(C) (3) only ' (D) All of these
61. Which of the statements related to ‘Cope South 22’ is/are correct ?
(1) Cope South 22 is a joint exercise of Air Forces of the US and Bangladesh.

(2) Objective of the exercise is to enhance interoperability between the US
Air Force and the Bangladesh Air Force.

Options : -
(A) (1) only (B) (2) only
(C) Both ' (D) None of these

62. The Budapest Convention, sometimes seen in news is related to :
(A) Bio-diversity - (B) Protection of flora and fauna
(C) Cyber security (D) Ozone layer depletion

- 63. Consider the following statements about Asia-Pacific Heritage awards.

(1) It is awarded by UNESCO.

(2) It recognises the efforts taken to restore and conserve h1stor1cal structures
without affecting their heritage value

(3) New Delhi has won most recognitions since the inception of the awards.

Which of the above statement(s) is/are correct ?

(A) (1), (2) only (B) (1) only

(C) (3) only . (D) (2), (3) only

TBC : LWO-2022 18




64. With reference to Lesser florican, consider the following statements :
(1) It is a small and slender bird species found in tall grasslands
(2) The IUCN Red List classifies it as Near Threatened (NT).
Which of the statements given above is/are correct ?
(A) (1) only ~ - (B) (2) only
(C) Both (1) and (2) " (D) Neither (1) nor (2)

65. Arrange the following in increasing order of their pH value :
(1) Lemon juice
(2) Pure water
(3) Milk of magnesia
(4) Sodium hydroxide solution
Choose the correct answer from the options given below :
A (1), @, 3), (2) B) (1), (2), 3), 4
) ), 3, @, 2 - D) (), 3), (1), @

66. Arrange the following metals in decreasing order of their reactivity :
(1) Gold

(2) Sodium

(3) Silver

(4) Iron

Choose the correct answer from the options given below :
A) (1), (), 3), @) (B) (@), @), (), (1)
(C) (1), (3), 4), (2) ' D) (D), 4), 3), (2)

- 67. Consider the following statements :

(1) A shining surface acts as a prism

(2) Light travels along straight lines

(8) White light is composed of seven colours _

(4) A convex lens can form magnified image at all positions from object
Choose the correct answer from the options given below : -
(A) (2) and (3) only (B) (1) and (2) only

(C) 3) and (4) only D) (2) and (4) only
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68. Co‘nsider the following sta‘téments :
(1) The best topsoil for growing ‘plants is loam. _
(2) Sandy soil contains greater proportion of fine .particles.-
(8) Bedrock can be easily dug with a spade.
(4) Loam is a mixture of sand, clay and silt.
Choose the correct answer from the options given below :
(A) (i) and (2) only  (B) () and (4) only
(C) (3 and (4) only (D) (2) and (4) only
69.' Given below are two statements : | | : )

Statement I : Water comes out of leaves in the form of vapour by a process.
called transpiration. |

Statement II : Plants with Weak stems that cannot stand upnght but spread
on the ground are called climbers.

In the light of the above statements, choose the most appropmate answer from
the options given below 3 )

(A) Both Statement I and Statement II are correct
(B) Both Statement I and Staternent IT are incorrect
(C) Statement I is correct and Statement II is incorréct
(D) Statement I'is incorrect and Statement II is correct
70. Given below are two statements -
Statement I : Motion in a straight line is called rectllmear motion.

Statement II : Motion that repeats itself after some penod of time is called
as periodic motion. '

In the light of the above statements, choose the most appropriate answer from
the .options given below :

(A) Both Statement I and Statement II are corfect
(B) Both Statement I and Statement II are incorrect
(C) Statement I is correct and Statement II is incorrect

D) Statement I is incorrect and Statement II 1s correct
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Directions (Question Nos. 71 to 75) : Read the following passage carefully
and attempt questipns by choosing the most appr_opriate option :
Nationalism, of course, is a curious phenomenon which at a certain stage in
a country’s history gives life, growth and unity but, at the same time, it has
a tendency to limit one, because one thinks of one s country.as something different
from the rest of world. One’s perspectwes changes and one is continuously thinking
of one’s own. struggles, virtues and failing to the exclusion of other thoughts.
The result is that the same nationalism which is the symbol of growth for the
people becomes a symbol of the cessation of that growth in mind. Nationalism, '

. when it becomes successful sometimes goes on spreading in an aggresswe way
and becomes a danger internationally. Whatever, line of thought you follow,

. you arrive at the conclusion that some k1nd of balance must be found. Otherwise '
somethmg that was good can turn into evil. Culture, which is essentially good,
becomes not only static but aggressive and somethmg that breeds conflict and
hatred when looked at from wrong point of view. How do you find a balance.
I don’t know. Apart from the political and economical-problems of the age, perhaps,
that is the greatest problem today because behind it there is tremendous search
for something which it cannot find. We turn to economic theories because they
have an undoubted importance. It is f(_)liy to talk of culture or even of God,
when human beihgs starve and die. Before one can talk of anythilig else one
-must provide the’ normal essentials of life to human beings. That is where
economies come in. Human beings today are not in a mood -to tolerate this
suﬁ'erlng, starvatmn and mequahty when they see that the burden is not equally
shared Others profit Whlle ‘they only bear the burden.

LT The greatest problem in the middle of the passage refers to the questmn
| (A) How to mitigate hardships to the human beings ?

(B) How to contain ‘the dengers_ of agg:ressive nationalism ‘?

(C) How.to share the economic burden equally ? |

. (D) How to curb intematiehal hatred ?
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72.

73.

74.

75.

Negative National feeling can make a Nation ........... R ,
(A) Selfish . (B) Self-centred

(C) Indifferent (D) Dangerous

Most suitable title for this passage can be :

(A) Nationalism Breeds Unity |

(B) Nationalism — A Road to World Unity

(C) Nationalism is not enough

(D) Nationalism and National Problems

‘Others’ in the last sentence refers to :

(A) Other people (B) Other nations

(C) Other communities _ (D) Other neighbours
Aggressive Nationalism :

(A) Breeds threat to international relations

(B) Leads to stunted growth

(C) Promotes National Unity

(D) Isolates a Country

Directions (Question Nos. 76 to 80) : Read the following passage carefully

and attempt questions by choosing the most appropriate option :

A close look at the facts relating nexys to political interference in administration
shows that it is not a one way process. There is often a nexus between power-
hungry corrupt politicians and civil servants with convenient principles. Many
civil servants are only too anxious to oblige the politicians, and then cash the
obligation when they need some special favour. So the attitude of righteousness
adopted by the civil servants is sometimes ;Jnly a way of covering their own

flaws by blaming others. Every now and then some civil servants come out
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76.

7.

78.

79.

80.

* with their memoirs suggesting political interference. It is not usual for the self-

styled hero to blame not only interfering politicians but also fellow civil servants

" for their failures if any. This attitude of smug self-satisfaction is, unfortunately

developed during the years of service. Self-preservation is encouraged by our

whole system of rules and procedures.
The passage suggests that :
(A) There is no political interference in the funétioning of the civil servants.

(B) All civil servants succumb to political pressure.

(C) Some civil servants compromise with their integrity while obligiﬁg the

politicians.

(D) All politicians are corrupt.

.The attitude of uprightness adopted by the civil servants is at times :

(A) A camouflage (B) Misdemeanor

(C) An act of transgression (D) An act of aggression

The existing system of administration seems to encourage civil servants :
(A) To become Godfather “
(B) To praise the politicians

(C) To become self-centred and concerned about their gain

(D) To become self-righteous

Nexus means : ;

(A) Connection | | (B) Disruption

(C) Niche - (D) Alcove

“Self-preservation” means :

(A) Memoir

(B) Autobiography

(C) Personal written accounts of one’s achievements

(D) Self-defense
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Part I1 |
(Group-A) (MBA-Human Resources Management)

81. Management inventories, succession planning, and skill inventory are the tools

of :
(A) Human Resource Demand Forecasting
(B) ‘Human Resource Supply Forecasting |
(C) Manpower Planning
(D) None of the above
82.  Which one of the following is ﬁot an example pf Herzberg’s Hygiene Factors ?
(A) Adv}ancement (B) Interpresonal Rélatiohships |
(C) Job Security (D) Work Conditions

83. ...

is an objcctive assessment of an individual’s performance against

well-defined behchmarks.

@
®)
©
D)

Performance Appraisal
HR Planning
Information for Goal Identification

None of the above

84. Which of the following external factors do not influence the recruitment

process ?

(A)
(B)
(C)
D)

Govémment and Union Restrictions
Labour Market Conditions
Nature of Job

Composition of the Labour Force
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85.

86.

Given below are two statements :

Statement I : The compensation progression of employees is not based on

. grade system.

Statement II : The concept-of “take home pay” is more relevant for an
organization.

In the light of the above statements, choose the most appropriate answer from
ﬁle options given below :

(A) Both Statement I and Statement II are correct

(B) Both Statement I and Statement II are incorrect

(C) Statement I is correct and Statement II is incorrect

(D) Statement I is incorrect and Statement II is correct

Given beloiv are two statements :

Statement I : Career planning is essentially the process of aligning the career

needs of the employee with the organizational career opportunities.
Statement II : The data obtained through job analysis are recorded on what
is known as job analysis sheet. |

In the light of the above statements, choose the most appropriate answer from
the options given below : | |

(A) Both Statement I and Statement II are correct

(B) Both Statement I and Statement II are incorrect

(C) Statement I is torrect and Statement II is incorrect

(D). Statement I is incorrect and Statement II is correct
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87. Given below are two statements :

(

Statement I : Leadership training is ineffective because'gpod leaders are
born, not made.

Statement II : Companies with vision statements perform better than those
without them.

In the light of the above statements, choose the most appropriate answer from
the options given below :

(A)
(B)
(C)
(D)

Both Statement I and Statement II are correct
Both Statement I and Statement II are incorrect
Statement I is correct and Statement II is incorrect

Statement I is incorrect and Statement II is correct

88. Given below are two statements :
Statement I : Validity refers to the consistency of the performance measure.

Statement II : A reliable performance measure yields consistent results over

time.

In the light of the above statements, choose the most appropriate answer from
~the options given below : '

(A)
(B)
(©
D)

Both Statement I and Statement II are correct
Both Statement I and Statement II are incorrect
Statement I is correct and Statement II is incorrect

Statement I is incorrect and Statement II is correct

89.  Arrange the following stages of staffing in correct sequence and indicate the
code of correct sequence :

1)
@
3)
4)

Performance Appraisal
Recruitment and Selection
Transfer

Induction

Choose the correct answer from the options given below :

(A)

©

(1), (2), (3), 4 (B) (2), @), ), 3)

(@, (), @, 3 D) @, @, 6,10
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90. Arrange the f_ollowing phases of human resource planning in correct order :
(1)  Situational analysis, environmental scanning and strategic planning
(2). Action decisions in HR_P .
(3) Human resource supply forecasting
(4) Forecasting human resource demands
Choose the correct answer from the options given below :
A (D, @), 3), @ | (B) (2), (1), @), (3)
©) (1), @), (3), @ - D) (1), 4), @), (3)
91. The correct sequence of steps in selection process are :
(1) Re-evaluation i
(2) Relating predictor to the criterion
(3) Measurement of performance
(4) Selection of criterion and predictor
Choose the correct answer from the options given belo;')w :
A @), @), @), 1) (B) ), 4), (2), (1)
(©) (2), 3), 4), (1) D (1), (2), 3), (4)
92. = Arrange the following steps of creating a market-competitive pay plan in a

sequence from the first to the last :

(1) Choose benchmark jobs and select compensable factors

(2) Define each compensable factor and determine its degree in each job
(3) Establish rate changes |
(4) Develop grade pay

Choose the correct answer from the options given below :

A) @), ), 3), @ (B) (1), (2), (3), @)

€ @), @), @), 3) D) (2), (1), 4), (3)
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93.

4.

95.

Consider the following statements :

(1) Change is always unwarranted

(2) Change has not to be internalized and integrated

(8) It is necessary to keep continuous watch on the change process
(4) Organizations and organism have no common features '
Choose the correct answer from the options given below :

(A) (1) and (3) only (B) (2) and (3) only

(C) (8) and (4) only (D) (1) and (2) only

Consider the following statements :

(1) The system of various roles that the individual carries and performs is
‘role set’ . ;

(2) The system of various roles of which an individual’s role is a part of

‘role space’

'(3) Self role integration, proactivity, creativity and confrontation are

ingredients of the Role making ‘dimension of Role efficacy
(4) Role stress is caused by both Role space conflict and Role set conflict
Choose the correct answer from the options given below : - -
(A) (2) and (4) only - " (B) (1) and (4) only
(C) (2) and (3) only (D) (3) and (4) only
BuzzSeséions help in :
(D 'Making workers versatile
(2) Making labour more unskilled
(3) Eliminating those employees who sit through the conference session but
do not participate '
(4) Stimulating discussion and participation from each member of group
Choose the correct answer from the options given below :
(A) (3) and (4) only (B) (1) and (3) only
(C) (1) and (4) only (D) (2) and (3) only
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96. Which of the following statements about open systems as giveﬁ by Daniel

Katz and Robert Khan are true ?

68
(2)
(3

4).

The exportation of energic inputs into the environment

=

Transformation of available energy as throughput, so that work is done

The importation of the output from the environment

A cycle of events in which the product exported to the environment

provides the energy for repetition of the cycle

Choose the correct answer from the options given below :

(A) (1) and (2) only
(C) (2) and (4) only

97. Match List I with List II :

(@)
®)
(e)
(d)

Career Anchor

List I. .

Career Stage Model

Career Path Model

Career Choice Model

(B)
(D)

@
(@)
(i)

: (iv) .

(2) and (3) only
(1) and (4) only

List II
Mondy et al.
John Holland
Edgar Schein
D. T. Hall

Choose the correct answer from the options given below :

(A)
(B)
(©)

D)

(i)
(@)
(@)

(@ii)

@)

@

@)
()
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98. Match List I with List II :
List I
(@ Human Capital Approach (i)
(b) Socio/Psychological Approach (i)
(¢) Poverty .Alleviation. Approach (i)
(d) World Human Development (iv)
Approach -

List II

Human Development Report

T. U. Schl_lltz
David Mc Clelland
Mahbub ul Haq

Choose the correct answer from the options given below :

A @G G @ 6
B @ @ @ @)
© @ @ @ @)
O @ @ @ @)
99. Match List T with List IT :
| List I
(@) Application of psychology to ()

industry and management

() Program Evaluation and (@)
Review Technique

(¢) Widely acclaimed first lady ‘ (i)
of management '

(d) Application of psychology to (iv)

advertising, marketing and

personnel

List I1
Henry L. Gantt

Walter Dill Scott
Lillian Gilbreth

Hugo Munsterberg’

Choose the correct answer from the options given below :

@A @ O @
B) @ @ @G @
(C) @@ G @) @D
D @) @ @ G

(&)

TBC : LWO-2022 i 30




100. Match List I with List II :
List I
(@) Long-term Labour
Purcﬁase Model

(b) Workforce Commitment

- Model

() Labour Transactional Model

(d) . Mixed Model

List II
Seeks to minimize wa,_cge and
benefit costs; and Employement

levels within organizational

boundaries. Outsourcing and

. externalization of employment are

encouraged
Different employment models for

core and non-core work are
adopted

Firms would employ workers, for
as long as they performed well and
the company has the capacity to
pay

Employers provide job security
in order to elicit long term
commitment and orgahization can
develop social and intellectual
capital within the boundaries of
the firm

Choose the correct answer from the options given below :

@ G 6 G G)
®) GG @ 6 G
© G) @ 6 G
O Gi) G) G) 6
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(Group-B) (MBA-Accounting & Finance)
81. Which is the task of a finance manager ?
| (A) Financing Decision
(B) Investment Management
(C) Working Capital Management
(D) All of the above
82. Which is not a benefit of financial accounting ?
(A) Maintaining Systematic records
(B) Protecting and safeguarding business assets
(C) Historical in nature
(D) Facilitates rational decision making

83. In MM model, irrelevance of capital structure is based on :

(A) Cost of debt (B) Cost of equity
(C) Arbitrage process (D) All of these
84. Indirect material used in production is classified as :
(A) Office overhead P (B) Selling overhead
(C) Factory overhead (D) Distribution overhead

85. Given below are two statements :
Statement I : While preparing partnership accounts under fluctuating capital
method we need to maintain respective current accounts of partners.

Statement II : Under fluctuating method, capital accounts are not touched
at all and debits and credits for interest on capital, interest on drawings, profits,
losses etc., are made in separate accounts called current accounts.

In the light of the gibove statements, choose the most appropriate answer from
the options given below : '

(A) Both Statement I and Statement II are correct

(B) Both Statement I and Statement II are incorrect

(C) Statement I is correct and Statement II is incorrect

(D) Statement I is incorrect and Statement II is correct
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86.  Given below are two statements :

Statement I : Shéreholders’ wealth maximisation and not the profit
maximisation is an appropriate and operationally feasible financial
management goal. '

Statement II : There exists a principal agent relationship between the

shareholders and the management of the company.

In the light of the above statements, choose the most appropriate answer from
the options given below :

(A) Both Statement I and Statement II are correct

(B) Both Statement I and Statement II are incorrect
(C) Statement I is correct and Statement II is incorrect

(D) Statement I is incorrect and Statement II is correct

87.  Given below are two statcments :

Statement I : Accounting profil is a surplus of total revenue over and above
all paid out costs including both manufacturing and overhead expenses.
Statement I : Economic or pure profit is a residual left after all contractual
costs have been met, including the transfer costs of management, insurable

- risks, depreciation and payments to shareholders sﬁﬂicient to maintain
investment at its current level.

In the light of the ébove statements, choose the most appropriate answer from
the options given below :

(A) Both Statement I and Statement II are correct

(B) Both Statement I and Statement II are incorrect

(C) Statement I is correct and Statement II is incorrect

(D) Statement I is incorrect and Statement II is correct

]
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88.

89.

90.

Given below are two statements :

Statement I : The purpose of amalgamation is to secure various advantages
such as economies of large scale production, increasing efﬁclency, expansion,

- avoiding competition ete.’

Statement II : In both amalgamation and acquisition at least one company
loses its existence.

In the light of the above statements, choose the most appropriate answer from
the options given below :

(A) Both Statement I and Statement II are correct

(B) Both Statement 1 and Statement II are incorrect

(C) Statement I is correct and Sta.tement II is incorrect

(D) Statement I is incorrect and Statement II is correct

Which of the following factors may lead to a sick industrial unit ?

(1) Shortage of funds and faulty financial management

(2) Investment by the FIIs in Indian industries

(3) Lack of experience on the part of promoters

@ Technological factors including obsolete or improper technology

Choose the correct answer from the options given below :
(A) (1), (2), (3) and (4) (B) (2), (3) and (4)

(©) (1), (2) and (4) | (D) (1), (3) and (4)
Arrange the following in sequence of decisions in manufactunng enterprises :
(@ Making of forecasts

(b) Determination of key factors

(¢) Consideration of alternative combination of forecasts

(d) Preparation of budgets '

() Combination of budgets

Choose the correct answer from the options given below :
(A) (a), (), (c), (o), (d) ; (B) (c), (@), (e), (B), (@)
(C) (@), (@), (c), (o), (@) D) (a), (o), (b), (e), (d) -
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91.

92.

93.

Arrange the foliowing financing choices in order of preference suggested by
the pe.cking order theory.

(@) Reinvestment of earnings

(b) New issue of equity

() Issue of debt

Choose the correct answer from the options given below :
(A) (a), (), (@ (B) (a), (), (b)

(C) (b)), (c), (a) D) @), (@), (c)
Arrange the following steps in logical sequence of operation of the Arbitrage
Pricing Theory (APT) : |

(1) Estimate the factor sensitivities

(2) Estimate the risk prémium for factors

(3) Identify the macroeconomic factors

Choosc the correct answer from the options given below :
(A) (1), (2) and (3) (B) (2), (1) and (3)
(C) (3), (2) and (1) D) (3), (1) and (2)
Consider the following statements :

Which of the follqwing are agency costs ?

(1) Monitoring costs

(2) Bonding costs

(3) Restructuring costs

- (4)  Opportunity costs

Choose the correct answer from the options given below :
(A) (1), (2) and (4) only (B) (1) and (2) only
(C) (2), (3) and (4) only (D) (2) and (3) only
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94. Consider the following statements :

Net present value (NPV) and Internal rate of return (IRR) methods yield

conflicting outcomes due to :

(1)  Unconventional cash flows

(2) Investment size disparity

(3) Investment life disparity

(4) Cash flow pattern disparity

Choose the correct answer from the options given below :
(A) (1) and (2) only (B) (1) and (3) only

(C) (1), (2) and (3) only (D) (2), (3) and (4) only

95.  Consider the following statements and answer as to which of the following

are correct ?

Profit

1) Margin of Safety = —————
@ L R P/V ratio

Change in Contribution
Change in sales

(2) P/V ratio =

Fixed costs
Contribution per unit

(3) Break-even points in units =

Desired Profit
P/V ratio

(4) Required sales to earn desired profits =

Choose the correct answer from the options given below :
(A) (1) and (2) only (B) (1), (2) and (3) only

(C) (2) and (3) only (D) (1), (2) and (4) only
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96. Which are correct statements :
(1) Pure risks are risks that offer only the prospectus of loss

(2) Speculative risks are situations that offer the chance of a gain but might

result in loss
(3) Liability risks are associated with product, and not vﬁth service, or with
employee acﬁon |
(4) Environmental risks include risks associated with polluting the
environment
Choose the correct answer from the options given below :
(A) (2), (3) and (4) only (B) (1), (2) and (3) only
(C) (1) and (2) only (D) (1), (2) and (4) only
97. Match List I with List II :
List I List II
(@) Acid test ratio (i)  Profitability analysis
(b) Debt service 'coverage ratio  ({i) Activity analysis
(¢) Debt-equity ratio (iii) Liquidity analysis
(d) Stock turnover ratio (v) Long term solvency analysis
Choose the correct answer from the options given below :
(A (a-ii),  (b-i) (i) (d-iv)
(B) (a-ii) (b-iit) (e~iv) (d-1)
(C) (a-iii) (b-iv) (c-1) (d—ii)
(D) (a-iti)  (b-i) (c-iv) (d—ii)
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98. Match List I with List II :

List I List II
(@ Ind AS 7 (i)  Intangible assets
() Ind AS 34 (iz) Statement of cash flows
() Ind AS 38 (i) Related party disclosures
(d) Ind AS 24 ’ (lv) Interim financial reporting

Choose the correct answer from the options given below :
(A) (a-i)), (b-iv) (c-1) (d—ii)
(B) (a-ii) (b-iv) (c-iii) (d-it)
© (aiid) (B-ii)  (c-iv) (=)

(D) (a-ii) (b-iv) (c-1) (d-iii)
99. Match List I with List II :
List I List II
(@) Target capital structure (z)  Expected yield on the equity

capital is equal to the pure equity
return plus a premium for financial
risk _

() Optimum c'apital structure (@) It refers to the perceived costs due
to increased ratio of debt in the

firm

(¢) Cost of financial distress (iiz) It is the debt ratio the firm strives
to achieve

(d MM proposition II (iv) It is the debt equity ratio that
maximises the value of the firm

Choose the correct answer from the options given below :
A) (a-ii),  (b-tid) (=) - (d-iv)
B) (a-ui)  (b-w) (c-iz) (d-i)
(€C) (a-v)  (b-iD) (c-iii) - (d-i)
D (@)  G-ii)  (c-id) (d-iv)
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100. Match List I with List IT :

List I
(@) Mezzanine capital (¥
() Private equity (i)

(¢) Global Depository Receipts (i)

(d) Venture capital (iv)

List II

It is the speedy source of finance
less regulated by the regulatory
environment of debt and capital

markets

It .is the long-term capital
embraced by the high networth
and high risk appetite investors

It is- an equity instrument issued
in overseas market and is listed
alnd traded on bourses on an OTC
basis

It refers to subordinated debt or
prefei'réd equity that allows firms
to borrow additional capital beyond
the levels lenders are wﬂl—ing to

finance through the bank loans

Choose the correct answer from the options given below :

A) (a-ii), G-iv) (e (d—iif)
B) (a-i) (b-iiD) (c—iv) (d-ii)
© (aiv) () (i) (@<

M) (a-ii))  (b-ii) (c—i) (d=iv)
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(Group-C) (MA-General Sociology)

- 81. What nomenclature Auguste Comte used before finally terming it as

Sociology ?
(A) Social Chemistry .(B) Social Biology
(C) Social Physics (D) Social History

82. Given below are two statements :
Statement I : Sociology stﬁdies_ society in its totality.
Statement II : Sociology is the study of a particular area of society.
In the light of the above statements, choose the most appropriate answer from
the options given below :
(A) Both Statement I and Statement II are correct
(B) Both Statement II and Statement II are incorrect.
(C) Statement I is correct and Statement II is incorrect.
(D) Statement I is incorrect and Statement II is correct.

83.  Karl Marx’s theory of social change and its various stages are given below.

Arrange tHem in order that he proposed.

(1) Feudalism |

(2) Primitive communism

(3) Ancient society

(4) Capitalism

Choose the correct answer from the options given below :
(4) (1), (3), (4), (2) | - B) (2), (3), (1), (4)
(C) (4), (3), (2), (1) D) 3), (4), (2), (1)
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84.  Consider the following statements :

(1)
(2)
3)
(4)

The process of assimilation is when two cultures merge into each other.

The process is never fully complete.

Assimilation méan_s cultural conflict.

Assimilation is nothing but dominance of one culture over the other.

~ Choose the correct answer from the options given below :

(A)
(&)

(1) and (2) only
(1) and (4) only

85. Match List I with List IT :

(@
(®)
(c)
(d)

List I

Material culture
Gemeinschaft
Urbanism

Values

(B) (3) and (4) only
(D) (2) and (3) only

List-1I
(z) Way of life
(if) Simple societies
(zi1) General guidelines of society

(iv) Civilization

Choose the correct answer from the options given below :

(A)
(B)
(©)
(D)

(@) (), (b) (iid), (c) (i), (d) (@)

(@) (@), (b) (v), () (i@D), (d) @)
(@) @), (®) (D), (e) (), (@) (iid)

@) 6B, BY @, (© G, @ )

86. Max Weber talks about the presence of spirit of capitalism in relation to which

religious group ?

(A)
(C)
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87. Given below are two statements :

,Statement I : Robert Merton propounded the theory of Anomie. based on
mode of adaptation in relation to culturally sanctioned goals and socially
approved means.

. S;;atement IT : Weber theorized the idea of stratification around a singular
axis.

In the light of the above statements, choose the most appropriate answer from -
the options given below : |
(A) Both Statement I and Statement II are correct

(B) Both Statement I and Statement II are incorrect.

(C) Statement I is correct and Statement II ié incorrect.
D) Statément I is incorrect and Statement II is correct. |

88.  In Comtean scheme of hierarchy, the disciplines could be arranged in ascending

order of their complexity. Identify the correct sequence.
(1) Physics

(2) Sociology

(3) Chemistry

(4) Biology.

Choose the correct answer from the options given below :
A) (D), (3), 4), (2) | (B) (1), (2), 3), 4
©) @), W, @, B D @), (1), @), @)
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89. Consider the following statements :

(1)

2)
3)

4)

Emile Durkheim believed in establishing primacy of “social” over
“individual” -

He proposed psychologism on the approach to do this

He believed society is sui-generis and it is ﬁot merely a mechanical
collection of individuals

In his book “Suicide” he established that individual is more important

than society.

Choose the correct answer from the options given below :

(A) (2) and (4) only (B) (1) and (3) only
(C) (4) and (3) only (D) (1) and (2) only
90. Match List I with List II : |
List I List-1I
(@) Althusser (1) Ethnomethodology
(b) Schutz (i) Functionalism
() Garfinkel 635 Phencsadiogy
(d) Parsons (iv) Repressive state apparatus

Choose the correct answer from the options given below :

(A)
(B)
(O
(D)

(@) (), (b) (i), () (i), (@) (i)
(@) @D), ) Gv), (o) GiD), (@) @)
(@) (), (®) @), (©) @), (d) @)
(@) @1), (B) (@), () (ii), (d) (v)

91.  According to which thinker, caste is an example of “status-group” ?

(A)
(C)

Max Weber (B) Srinivas
Pocock (D) D. N. Majumdar
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93.

94.

- (Given below are two statements :

Statement I : According to Y. Singh, change in Indian society is best understood

through continuity and change paradigm.’

Statement II : M. N. Srinivas preferred modernization over westernization

because former being a neutral concept.

In the light of the above statements, choose the most appropriate answer from

the options given below :

" (A) Both Statement I and Statement II are correct

(B) Both Statement I and Statement II are ‘incorrect.

(C) Statement I is correct and Statement II is incorrect.
(D) Statement I is incorrect and Statement II is correct.
Put them in order of their progression from simple to complex :
(1) Primitive society

(2) Industrial society

(3) Post-industrial éociety _

(4) Traditional society.

Choose the correct answer from the options given below :

A) @), @, 2), @) (B (D), 2, (3), @

€) (2), (1), 3), 4) D) 3), (2), (1), 4)
Consider the following statements : .
(1) Caste system of India is not a completely closed system.
(2) This system provides mobility through Saﬁskritization.
(3) The system of caste is exogamous

(4) It facilitates mixing of various races.

Choose the correct answer from the options given below :

(A) (2) and (3) only ~ (B) (1) and (2) only
(C) (1) and (4) only (D) (4) and (2) only
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95. Match List I with List II :

List I List-IT
(@) Parochialization . @ S. C. Dube
(b) Multiple tradition (zz) Wiser
() Jajmani system (tii) McKim Marriott
(d) Caste census (iv) Ibbetson

Choose the correct answer from the options given below :
(A) (a) (), (B) (), () (@), (d) (i)
B) (@) (i), ®) ), ) (i), (@) ()
©) (@) @), ®) @), (c) (), (d) (iv)
D) (a) (D), b) (D), (c) (), (d) (v)
96.  Who first introduced and established the participant observation method for
data collection ? _
(A) Frazer (B) Malinowski-
(C) Parsons ' (D) M. N. Srinivas
97.  Given below are two statements :
Statement I : A pilot study is undertaken after a schedule or questionnaire
is drafted. |
Statement II : Hypothesis is tested theory.
In the light of the above statements, choose the most appropriate answer from
the options given below : '
(A) Both Statement-I and Statement II are correct
(B) Both Statement I and Statement II alrel incorrect.
(C) Statement I is correct and Statement II is incorrect.

(D) Statement I is incorrect and Statement II is correct.
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98. The following steps are part of selecting a sample. Put them in progressive
sequence : :
(1) Define universe
(2) Deciding the sampling unit
(3) Source list with the name of units
(4) Size of sample
Choose the correct answer from the options given below :
@) @, @, @, 3 B D), @6,
€ @), @), 3), 4 D) 3), 4),(2), (1)
99. Consider the following statements : ,
(1) Pilot surveys help in ascertaining the plausibility of the research
(2) They help in designing the schedule/questiohnaire better -
(3) Pilot surveys are mandatory part of any research
(4) These surveys essentially provide subjeclive analysis

Choose the correct answer from the options given below :

(A) (2) and (3) only (B) (4) and (3) only
(C) (1) and (2) only (D) (2) and (4) only
100. Match List T with List II :
List 1 ; List-II
(@) Sampling (&)  Snowball
() Hypothesis (if) Filled by the respondents
(¢) Schedule (zz7) Tentative generalization
(d) Questionnaire (iv) Filled by the interviewer

Choose the correct answer from the options given below :
(A). (a) ), (b) (D), (c) (@), (@) (iv)
(B) (a) Gv), B) (), () (D), (d) (D)
(©) (a) @), (b) (D), (c) (v), (d) (i)

D) (@) (D), (b) (@), () Gv), (d) (iii)
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